DUBUS 4/835 TECHNICAL REPORTS

1296 MHz POWER AMPLIFIER  GeneraL orawing by OE 9PMJ

TUNING RANGE 1250 to 1300MHz not toscale
L @)
@——~ T
® @ |
= U |2
from blower | N
BHE! “lt | ’
8 A SN - |
%/'; I
' ‘.Z}-'Q_ : jl” ____output coupling _ﬁ] 50
@ ! BaA— \ 51
, L8 54
oIS Fooes
@’T,ZI;’ OS] INNHEEGD) ] {oncee 3
0 = ()
[} @ G
3 .
| 20
29 + T @
O dpZ 7S
‘/ & 56
6 blower bypass _——: “.inpuf coupling _ 50
8 - N 51
|| | 52
10 l 18Y49 \@
38 7
tH 47

L

4
4

i 4
reversed N E

A J_ a' cathode
l’S cathode l heater ) p heater
d i 3 ~ | /

=l \\\\\\\Tlér

tuning
Peter RIML, Marktstr. 33, 6971 HARD, AUSTRIA 1985,Feb. OE9PMJ

®©©

@ ° d)d)
Third and definitive edition (1989 Muy)

DUBUS 4/85 - 3a2 - TECHNICAL REPORTS



DUBUS 4/85 TECHNICAL REPORTS
i @HEEEIEHE)
PARTS
Y . Flansch abgedrent
Lange siehe unten flange dumed-down
gc.lal’ld length see below .y
soldered H .5?: X
D) : N o
NG 3, R NS
3 . == & ~-\ = > R .
HiE=i = remmem i -
L3 ol | N Y b
N TR, ¥ 3 u
15 X LR RN '
Vet ) 6" [ BN 7 | Y
65, 18 Linge sieke unton
W length see bolow +1.5 fir Litung .
soldering hole Vis'dia
N4 Gewindestange
M5, 16.5tang
bross thread rod (%,
53" long N-Buchse

N-Socket VG SBAlU
nach dem loten in

Ms 415, 6.5long
9/32°dia brass rod,

Terl 53155 eingepre st

length Yu®

';rre { rzfzon} Scheibe 59 lang @ gll lang 7{ lang
4, 5 .

Zisk e S Vi 'long % long I % long 37 Long

Hs-Rohr $6/%3mm
brass tube %' %x Yo1'

Ms

TEILE
PARTS

OOG

Innenseife vor dem lo(en poliert
/m.:la'c poliched b:ﬁm: solder

after soldering
pressed into parf 53/53

@
50 tong

2% '(an_g

635

-Rohr 561 F temm
brass tube %" Y « Y2

Imol geschlilzf
/ ltime stoded

H Ty o -2 R O
I e | . - QPR
R S
Ms- Rohr 4‘20/ 4 16, 40 long -
bross tube 3/u %,%" 4, 2
tenglh 1147 1.5 25
070 I ! 1"
' 40
. 1%
.\’ 2 M§-Rund -Kol *.9 10 (ang v
&’ 2 bross atfuls ‘-Vl'dm ’/llang 3 ol
1 2R
= - <
l N -1
$ <ls
N~ Rohr */oo 495, 118 lang . .
brass dube 1'4/4 334" L, 4250 long s‘:f‘,"";?:;" ;’i’;:tf"“
‘ ;?, .
N
l#.vi
[3% da
|
T
4100
4% dia

DUBUS 4/85

TECHNICAL REFORTS



REPORTS

TECHNICAL

DURUS 4/85

TEIL
PART

Messingplatie 120 120 « 8mm
Zracs Plate 675 475 . 315 “thick

*ue

467 dia 4 o

g 37750 dia

w2
4[ poliert / polished
i

o
—\ |8

25

\\ >

T
‘
{
T
1

)

(%

461

/.\ polier!

2.%00 dia

Locher Fir Hontage

\:o_nm for mounting
" H4

(5/32")

L

polished

7 <

Hé

83
3.270

120
4.750

TEIL Messingplatte 120 = 120 x§ mm
PART Bross Plale 435"« w78 315 (hick
4116
" 4.570 dia
$95
3.750 dia. N
, Vumil\\e«\w\.mkl/b “ s
: J 7, : T
vz mw i 32777t
$50 20| jobt %"
T.000 dia T

Locher far Hontage

6.2

\\xo?m for gn::r.am/

o
ta
lar
n
w
o~
~
S
e
23
N3
)
- .
x5
8
-
°
0w
™
0 Ed
[
¥
"_lu
N 3
lma
.UN.M
o =+3
niS .
R »\Q&/I / - \\ 4y — - o
i HS
| =[a
'

_ | (i) ]| S

TECHNICAL REPORTS

- 304

DUBUS 4/85



REFORTS

TECHNICAL

DUBUS 4/85

9 ys0d 30 57104 YbNOIY)
PoNpLASIs)sposy 7T

J/40q3b 9 113 oA

29p07 Y0P il 3puinz9 7
5103120d07
ybrnosgypazy woy saj0y7
vzseposuspuoysbuniyny
“HYMAC 4T 42P0T T

Fx34 295 JouUCiSIp

$770Y 22uDIDZ]> PDIAYY (,34)

wag)73s 4 up
— - 40075 BR0bLDING SH

F¥2L jro) uojisoq -/W.. "
] 2 & _a Vdadddidd
<t pa3oeb
S 7
' H N -
4 il sy
2ip,7
003" yjbuz ’
“oip .7 srouq ! 054
bueys) fosy su PP, OP Ml
92z 59
? dpag *
N $051'8 476v7) by, i 77
SIS B, 29m 3o +
SH bv0) 207
$74 4404 - 5|
3‘\ ¢ H _
st (Ea——
]
s250)d § us
t

olok
3N3L

sajoy aouauiws)s (|16/5) poayy T
W # 47420]1sBuebyang 3

g

By il > Foal
agny ssesq

9 Wia3l 4o Ipisul
ot p2ydopp spuz

w| Sty 05y wou-SH syodabup
Sl 9 J12L boa 2135 b s % P e
“le ~uzuu] Lo uapul 2qnj ssosq
p230)s 7wy | Fxap 293 9lg) 92y 240U - SH
2710142826 Jow | PPHRP]OT e
S
st T 8
NE
yaynig SL04
NV13AC op, :

q si12buty

2232wolp 1, OLLT 04
apisu wtﬁ

wzbogob bzuur yoou |
i Gy gy 0P 126U

pasn) pod
§opunsob

¢ 4

o Y/E 45Ul Ppim oy - 251 390 $)0)S (13bu1y 47
bumy g4 T*..u:q wui gy -] DI LIS Oumc‘_k PY4

e Slivd
INaL

TECHNICAL REPORTS

305

DUBUS 4/85



TECHNICAL REPORTS

DUBUS 4/805

vip 9y, ey buisappos

\mfl “ypope]

[}
Ng _
(,2e/s) * "
—
H poasy; sYDiq
_ buoyzs 'au st
bea2al 1)
324
£# wer RIS
b\ﬁ ¥, 7704 @uo —‘lhl._
- R[IER 7] &uoy, y,1 '2ip X541
Y \@ bup108 *374
N (vosu) 3did
Se €y
hd S “ “uth\itwo
£ (25/5) proesys
A\ B
~ Ty
(35551
™ 3 ypbumn
JN.«\. pos S5D49
Sls w275l ‘Sl ¢ SH
N Bu0) 5 1'%y Y
~ Fo 35 293 5504Q
N H -~ % buoy s gF
2, pfolg 417 - SH
s S )
L gl=
P, s
né

sPpFWOIp, S§Y° O3 FPIIUN pwq srabuiy 9
woboqab v pouS T pND ‘aabuis9

EEOEE 5L
ELERS

uﬂuhwm 4w

= o..h.un\n\ 530y 2ULs07)3 POIIY} m.n\L
¢ uINI3S Yuo

oip, 1 s9y30)sbuDbyding ¢

|
924 \
Suoy 0031 * ¢, 4 :

x4 54 29N} s504q -3 .V
" buby o4
! Z & Yoy -S| >
924/ 82 p 4H4°L ~H W,.
SIES Dla
parepros SHF
PAa?b
buey gog- * B4 1
J, 29n} ¥y04q = o
w@@-\mhiQNmﬂht.vw ;MF—— __ | W”
'S24[0hg 44U~ SN gk 1=
2% 4792p
Loy 35, 9P 3P SO by
SUF wrg)
3r21q ww gy} T3 FIIMAS CI30UI4 3
pip T/, 4 vp ikl
2
Y IONI sy ity
uz k ui.NM\MN N X
1vL3q ¥4 | SRS
PP, %l A=
5t O - N
Sisk ©
PR (044 “ 8
T 3
S pasnipos
Fopunsb

0 "o csel [ 456y

OO
33l

TECHNICAL REPORTS

a6

DUBUS 4/83



TECHNICAL REPORTS

DUBUS 4/85

v 9yt
284
_BPLSNE _
éé\\»
{
N [ !
NS _
< t _ I
R 1Y 7 S 11 ¥, ¥
buor Nl
‘Bl yt % 457 B/ 290}
: Buoy o4
K 394 1% 4 402
4 vip ay,E N:cﬁub FSld
vpoLLZ e @
1L 4
= ~
™ N[ N
S5 L s
- 00 -
s
=
) IS TR N
(4) %
v
X P32 TN
™ 394
PIP 016°T LTS/ SSauYIyL
vL ‘9 *x 4 T
2>07d ¢ 7R B L A
mﬁ\“twudwuhww. VP, e s0nbs wntununiy
wapejs h Uo ﬁw* ypp wwy
bunywasiap € H PiPa9%'Z ‘oz xo024 Y22)L-MYy
PR AP .
1~,_v -~ .1? mN
u ! T
Pl 1 Y
Z‘
SUAYd
ENEN]

I

[={-]3

e

000' 1
i
_j.

oL7'€
€&
o

7
-

X
w

aboqiop apomy
\Q :H?‘Q’»\!a

M\.\Jﬁ“ “wo
! -56unuuoasuapauy

}x27 a2s .MC.I»WTVW
J234D Umop-pruIng

$y7sprbqo uz o7 wap yIou
yr0p513bury ~m¢M.§E
TIvil3q

o~ (%)

o52°
2!

yaysnod
jsoned

NN

.S€2'2 Ypbuay :._o*\c.:tm.mh\ sbupjjwessry
oIS 4o 00f 4D 40 001 43 JYWIZ oS 43buiyg

L IR/ B

ww 9 % 00} *poj 213v1dburssay

yoois sbuig o paydepY
*d3bue noaysasbuis U

wiP00sl] $°35,

2}v)d 5SO4E

TECHNICAL REFORTS

3a7

DUBUS 4/85



TECHNICAL REPORTS

DUEUS 4/8S

G 524 % 54 4 o 351d

M/ A Buoy g OF, 8/¢
NS = gnps werhy
N buoy 77
MY R/ A P
¥ PR Sl m\* worhpy
s 3 ¢
MR
= AR _
= %.,%M.M' ..N/.f T T — ..MI p10d oput
W. nf L passaid pnu ()
Jpasdaburr 433308 9y
buer 2 (%)
Buoy) ,Tels

‘pos s¥OIa OIP ,NT
buryl ‘gt SH

\Q.\ “WQKQ \Q\hV\n\w
buoy 05 ‘Su
¢ vbtvmnu\ut,:xuh Y

.2 .
43
w4 |
z
NE
~ w A A
R <
M..N V,H,N, e = __poseys
H B \/ Y \ FEiIyI526
— A

s2yp2b03 puazplos
J23e)?b vewwosnz

s ypbue) B

X Plo ) (OWGN} FdUd buoy 875 Cpos viF 34y
buvy o ::w (#oly31) FALd

op Tl L
8y 5970y 9] ole u\s(cnv\ute\wnut
oL, s3eT9l P24} (%)
13 N
| 4 Wc
H -+ - 1)
: "_ ! : Yo Sz 42
L H e £ (Y -
R T —

ﬂ\\ . &\\:N
514

@@ E 5

ALt B B

sDq 2s0nbs SED4q
buy 4g 01701 SH $TA

6118 'Sy 920541077150
S wpbuz]
“Bp SIfE " pod 4TI

buoy 3y,

"(, /1) 3709 porsyy 504
bygt ‘wazjoqapuimag ¢ N

(0

R4
SRR A
i u.i.lmn\.n o
$ Va2
2 w 3774 .%Hw
Gz 5 Al
| U..V-g\m.
¢
| il .
mF
i
IR

&

ez !
47N L
PP Y "
AN i k
W - ”
DR _ nals
: ! Pl R[N
"/ 1
buoy  ass ~ ) £ ..N =
‘o pzt s50e9 ( GE o .
buoy a1 ‘shg SH | wm.nﬂxi
T
Ll 12
T Q#*

e SLAVL
I

TECHNICAL REPORTS

308

DUBUS 4/85



DUBUS 4/805 TECHNICAL REFORTS

STUCKLISTE . © PARTS LIST
Teil } Stk | Werkstoff Abmessung NS of| material dimension
JPart Bezeichnung Grofe mm piece| designation size in
1 1 Ms~§ohr 100 x 95 x 118 1g 1 brass tube 33/4"1d, 4"0d,4.65 long
2 1 | Ms-Rohr 20 x 16 x 40 1g 1 brass tube 5/8"id, 3/4"od, 1l.5long
3 2 | Ms-Rund 9 x 10 1g 2 brass rod 3/8"dia, 3/8"1long
4 1 Ms-Platte 120 x 120, 8 dick 1 brass plaete .315thick, 4.75 x 4.75
5 1 Ms-Platte 120 x 120, 8 dick 1 brass plate .315thick, 4.75 x 4.75
€ 1 | Ms-Rohr 50 x 45 x 270 lg 1 brass tube 113/16"id,2"0d,105/8"1g
7 1 | Ms-Rohr 20 x 16 x 65 1g 1 brass tube 5/8"id, 3/4"od, 2.5long
8 1 | Ms-Rohr 20 x 16 x 30 1g 1 brass tube 5/8"id, 3/4"od,1l/4long
9 1 | Ms-Rund $50 x 15 1g 1 brass rod 2"dia, .60"long
10 1 Ms-Rohr 28 x 26 x 207 lg 1 brass tube 1"id, 13/32"od,8.15“15
11 1 | Ms-Rohr 28 x 26 x 40 1g 1 brass tube 1"id, 13/32"0d, 1.6"1g
1 1 Ms~Rohr 40 x 25 x 20 1lg 1 brass tube 1"id, 13/8"od, .8" long
13 1 | Ms-Rund g13 x 13 1g 1 brass rode 1/2"dis, 1/2"long
14 1 | Ms-Rohr 16 x 13 x33.5 1g 1 brass tube 1/2"id,5/8"0d,13/8"long
15 1 | PTFE-Rund g28 x 30 1g 1 PTFE rod 13/32d1a, 11/8"1ong
16 1l Ms-Gewindestange M4 x 52 1g 1 brass thread rod ees 2" long
17 1 Ms-Beilagscheibe M4 1 brass washer ses
18 1 Ms-Mutter M4 1 brass nut A
19 3 | Keramik Kondensetor 50 - 200 pF 3 ceramic capacitor 50t0200pP, 100 V
20 8 Zyl. Schraube Ms Mix 81g 8 brass cheese head ser.... 5/16"long
21 1 Mas-Platte 100 x 100, 6 dick 1 brass plate 1/4"thick, 4" x 4"
22 1 Finger Stock siehe Zeichng 1 finger stock see drawing
23 1 PTFE-Folie 0.25mm 120 x 120 1 PTFE sheet .0l"thick, 4.75" x 4.75"
24 1 | PTFE-Rohr 90 x 68 x 40 1g 1 PTFE tube 25/8"1d,31/20d,19/16"long
25 1 Alu-Blech 120 x 120, 2 dick 1 alu sheet 3/32"thick, 4.75" x 4.75"
26 1 Radiator-Geh#use beliedbig 1 radiator enclosure, any sheet metal
27 4 Rindelscraube beliebig 4 knob head srew any
28 4 | Senkschraube M3 x 81lg 4 countersink screw ... 5/16"1long
29 2 | Ms-Rund p20 x 7 lg 2 brass rod  3/4"dia, 9/32"1ong
30 2 | Ms-Gewindestange M6 x 50 1g 2 brass thread rod - 2" long
31 1 Nylon Rundstab g15 x 22 1g 1 Nylon stud 5/8"dia, 7/8" long
32 1 PTFE-Rohr 45 x 28 x 8 lg 1 PTFE tube 1"16,13/4"od, 5/16"1long
33 4 | PTFE-Rund $14 x 10 1g 4 PTFE rod 9/16"dis, 3/8" long
34 4 | 2yl. Schraube M4 x 16 1g 4 cheese head screw ... 5/8" long
35 2 | Ms-Mutter M6 2 trass nut ves
36 4 Hutmutter M6 4 hat nut e
37 4 Gewindestange M6 x 137 1g 4 threaded rod o 53/8"1ong
38 2 Finger Stock EIMAC CF700 angepaBt 2 finger stock EIMAC CFT700 adapted
39 1 | Ms-Rund 945 x 14 1g 1 brass rod 17/8"dia, 9/16"1long
40 2 | Ms-Gewindebolzen M3 x 10 1g 2 brass thread bolt ee. 7/16"10ng
41 2 | Kunststoffstab #5 x 82 1g 2 plastic rod 3/16"dia, 31/4"long
42 1 Ms-Vierkant 10 x 10 x 54 1g 1 brass square bar 3/8", 2l/8"1ong
43 2 | Gewindestift M3 x 6 1g 2 thread bolt ... 1/4"long
44 2 Zyl. Schraube M4 x 8 1g 2 cheese head screw ... 5/16"long
45 2 Durchfiihrungskondens. 200-1000 pF 2 feed-through cap. 200 to 1000 pF
46 1l PTFE isol. Schaltdraht 1.5mm2 1 PTFE is0l.CU-wire 1/16", abt 8"long
a7 1 | PTFE 1sol. Schaltdrsht 1.5mme 1 PTFE isol.CU-wire 1/16", abt 7"long
48 2 | Ms-Rund 915 x €.5 1g 2 brass rod 5/8"dia, 1/4"long
49 2 Ms-Gewindestange M4 x16.5 1lg 2 brass thread rod ... 5/8"long
50 2 | PTFE-Rund g14 x 5 1g 2 PTFE rod 9/16"dia, 3/16"1long
51 2 | N-Buchse UG58A/U, abgedreht 2 N-socket UG58A/U, turned-down
52 1 { Ms-Rohr 6x 3x 59 1g 1 brass tube 3/32"id,1/4"od, 23/8"1g
53 1 | Ms-Rohr 16 x 14 x 175 1g 1 brass tube 9/16"id,5/8"od, 3" long
54 1 | Ms-Rohr 6x 3x 441g 1 brass tube 3/32"1d,1/4"0d, 13/4"1g
55 1 | Ms-Rohr 16 x 14 x 60 1g 1 brass tube 9/16"1d,5/8"0d, 23/8"lg
56 2 Schlauchklemme 22mm 2 hose clamp 1/2" pipe
Die aengefiihrten Ldéngen entsprechen den fertig The noted lengths indicating the finished
vearbeiteten Maflen. dimensions.

DUBUS 4/85 - 309 - TECHNICAL REFORTS



DURUS 4/85 TECHNICAL REPORTS

DRAWINGS

Dimensions are given in mm and inch. The dimensions in inch are not
exact translated from the metrical system; the availability of material
sizes, especially tubes are considered.

The metrical threads (ISO), designated as M3 (1/8"), M4 (5/32"), M5
(3/16") and M6 (1/4") could be replaced by any other similar sizes

of the BA, UNC or UNF -series. On the drawings the inch thread sizes
are not fixed.

FABRICATION

All parts are made according to the drawings using a turning-machine.
The slots in parts 6, 12, and 14 could be made using a milling
machine or, as well,by hand (hack-saw). This is done after soldering
together the parts 11 with 12, and 13 with 14.

The radiator-housing item 26 is made from any sheet material, adapted
to plate 4 and fixed by screws (without drawing).

SOLDERINGS

All solderings may be obtained from soft solder by means of a torch.
Soldering-flux residue ¢leaned away while the soldered parts are
still warm.

1) Pirst soldering together the parts 11 with 12, and 13 with 14,
then set the slots.

2) Adapt and solder fingerstock 22 to the anode block plate 21. To
fix the fingerstrip there can be applied an old, demaged triode.
Outstanding fingermaterial and solder turned-down.

3) Items 2 and 3 soldered into part 1. To fixing the threaded parts
3 put a suitable threaded rod (abt. 3" long) through both parts.

4) The Cathode circuit parts 10, 11, 12, 15, and 6, 9, 32 are mounted
together (cathode tube 10 is sliding inside part 9). Next fixing
the position of 10 by set in a walve adjusting its grid ring to
2,5mm (.1") below the fingers rim of 6 (see general drawing).
Solder part 10 at 9.

5) Mounting the cavity, parts 1, 4, 5, and 21 ,then put in the still
complete cathode assembly (included walve). Adjust the correct
position of grid tube 6 inside the cavity by moving the walve
(measure see general drawing) and solder 6 at the bottom plate 5.

6) After dismantling the cavity,solder tubes 7 and 8 at 6, use for
aligned fixing of 7 and 8 a stub of a suitable rod put through.

MOUNTING

The assembly is built up according to the general drawing followed
by a thorough check of its mechanically performance. The last
soldering work to do is to install the wires 46 and 47 and the
ceramic capacitors 19.

SILVER PLATING

A good silver plating consist of three parts ... 1) copper plating
(ground coating) abt. .2 to .6uin = 5-15um thickness, 2) abt. .2uin

= 5ym silver cover and followed by 3) a procedure of passivation to
prevent oxydation.

The coatings thickness affects considerable the size of sliding
parts like 55 and 53, as well the fit of the plates 4 and 5 inside
the cavity tube 1. Consider the correct clearanced joints of such

DUBRUS 4785 - 310 - TECHNICAL REFORTS



DUBUS 4/85 TECHNICAL REPORTS

parts if becomes plating. A clearanceless fit of .4 and 5 to the
tube 1 provides the good electrical contact neccessary.

As the experience indicated, there is only a very small difference
in gain and efficiencyof a perfect silver plated cavity compared to
a polished brass version. Tested under same conditions, the measured
difference is almost not detectable, only about .1dB less on brass.

The advantage of good plating (passivated) is its resistance contra
oxydation, whereas the naked brass is oxydating continiously.

If a silver plating is considered, apply only a special (soft)silver-
(bright)plating,included a passivation, designed for low electrical
loss applications. Note that the passivating cover is very sensitive
to high temperature and its protective effect does suffer or diappear
above abt. 80°C. Thus no soldering should be made after.

OPARATING/TUNING

Before put any voltage at the stage, bring the cavity in the situatior
as follows:

output coupling abt. 1/4" (6mm) distance grid tube part 6
input coupling total insides, in touch to tube part 10

anode tuning disc abt. 1/2" (13mm) distance to grid tube part 6
band set screw position outside

cathode sliding short position outside

Next activating blower and put the filament voltage at the stage,
preheating least 3 minutes. The heater voltage for the TH308, TH328
and family is abt. 5.2V (max 5.3V) on this frequency. For other
walves look at the manufacturers applications sheet. The cathode
bias circuit is adjusted to the lowest current.

After put on the anode voltage, about 1.000 to 2.000V, adjust the
cathode zero signal current to abt. 40 to 80mA and put a driving
power of 1 to 3W at the input stamp. The output port is connected
at a 50 Ohm load and power mefter. Turn slowly the band set looking
for the resonance point, after found it fix the band set and tune
the output coupling and anode tuning srew mutual for max output
power. Also the sliding short and the input coupler mutual for max.
Don‘t use on high power tunings a steady carrier, apply a CW-
generator (5 to 10Hz) for optimum PEP tuning.

TEST RESULTS
TH308, 2.050V anode voltage stabilized, 40mA Ic zero signal

Pip, W PEP Pout, W PEP Ic, mA gain, dB efficiency %

18 300 500 12.2 29.3
31 510 700 12.1 35.5
49 770 900 12.0 41.7

(68) (980) (1.100) (11.6) (43.5)

The walves TH308, TH294, TH338 and F6007 (all from THOMSON-CSF,Prance
provides similar results. The EIMACS Y730, Y831 and Y846 provides
more gain but working not satisfied stable due to a interelectrode
proplem (power fluctiation), note that the Y831 is a tentative

device at present. Using a Y846 it is possible to get 500W from 10W
in only one step, but it is required to tune continious to keep

output power stable.

This cavity 1s having a -3dB band width of only 1.3MHz.

DUBUS 4/85 - 311 - TECHNICAL REFORTS



DUBUS 4/85 TECHNICAL REFPORTS

HERSTELLUNG

Die Fertigung der Teile entsprechend der Zeichnungen erfolgt auf
einer Drehmaschine. Die Schlitze in den RéhrenanschluBteilen 6,

12 und 14 kdnnen auf einer Frdsmaschine als auch h&ndisch gesdgt
werden. Dies erfolgt nach dem Zusammenldten der Teile 11 mit 12,
und 13 mit 14.

Das Radiatorgehduse Teil 26 kann aus beliebigem Material gefertigt
werden und wird an Teil 4 angepaBt und verschraubt (ohne Zeichng.).

LOTEN

Alle Lotungen kdnnen mit Weichlot mittels Lotlampe erfolgen. Die
FluBmittelreste werden mit Alkohol entfernt solange die Lotstelle
noch warm ist.

1. Zuerst die Teile 11 mit 12, und 13 mit 14 verldten, danach die
Schlitze anbringen.

2. Den Fingerstock 22 an Platte 21 anpassen und verldten. Zum
Fixieren des Pingerstreifens kann eine alte, beschddigte Rohre
dienen. Uberstehendes Lot- und Fingermaterial abdrehen.

3. Teile 2 und 3 in Teil 1 einldten. Zum festhalten der Gewinde-
teile 3 sollte eine Gewindestange (ca 130mm lang) eingeschraubt
werden, welche beide Teile fluchtend fixiert.

4. Kathodenteile 10, 11, 12, 15 und 6, 9, 32 zusammenbauen (Katho-
denrohr 10 gleited in Teil 9). Die Lage von 10 wird durch ein-
stecken einer Triode fixiert, Gitterring der ROhre 2,5mm unter-
halb des Fingerrandes (siehe General Drawing) und mit Teil 9
verldtet.

5. Den Topfkreis, Teile 1, 4, 5 und 21 montieren, dann den noch
zusammengestellten Kathodenteil mit Rohre, wie in Abschnitt 4.
beschrieben, einfiligen. Die richtige Position der Rohre und des
Gitter- Kathodenteiles justieren (siehe General Drawing) und
Gitterrohr 6 mit Bodenplatte 5 verldten.

6. Nach Demontage der Teile die Rohre 7 und 8 mit Gitterrohr 6
verloten. Zur Fixierung wird ein passender Wellenstummel durch
die Teile 7 und 8 hindurchgesteckt.

MONTAGE

Alle Teile werden entsprechend der Zusammenstellungszeichnung
zusammengebaut und auf mechanische Funktion gepriift. Die letzte
Lotarbeit ist das Anbringen der Verdrahtung Teile 46 und 47,
sowie der Keramik-Kondensatoren 19.

VERSILBERUNG

Eine gute versilberung besteht aus drei Teilen: 1) Kupferschicht
5-15um = .2-.6pin (Grundschicht), 2) Silberschicht etwa S5um = .2uin
und 3) einem Passivierungsverfahren um Oxydation zu verhindern.

Die Dicke dieser Schichten haben einen betrdchtlichen EinfluB auf
die Passungen der Gleitteile 55 und 53, sowie 4 und 5 im Rohr 1.
Dies sollte berilicksichtigt werden beim Einpassen der Teile (Spiel).
Ein Spielfreier Sitz der Platten 4 und 5 im Rohr Teil 1 stellt einen
guten elektrischen Kontakt sicher.

DUBUS 4/85 - 312 - TECHNICAL REPORTS



DUBUS 4/85

Der Unterschied im Gewinn und im Wirkungsgrad einer perfekt ver-
silberten Stufe verglichen mit einer frisch polierten Messing-
Version ist sehr gering. Getested unter den selben Bedingungen

ist die Differenz kaum messbar, nur etwa 0,1 dB weniger fiir Messing.

Der Vorteil einer passivierten Versilberung ist die Bestédndigkeit
gegen Oxydation, blankes Messing hingegen oxydiert fortschreitend.
Zu bemerken ist, daB die Passivierung empfindlich gegen hohe Tem-—
peraturen ist und iiber etwa 80°C beschiddigt wird. Ebenso ist die
mechanische Widerstandsfdhigkeit begrenzt.

Falls eine Versilberung in Betracht genommen wird, sollte nur eine
spezielle, fiir disen Zweck geschaffene Ausfilhrung angewendet werden,
eingeschlossen einer Passivierung.

INBETRIEBNAHME

Bevor eine Spannung an die Stufe gelegt wird, sollte diese in
folgende Situation gebracht werden:

Auskopplung ca. 6mm Abstand zum Gitterrohr (6)
Einkopplung komplett nach innen, Anschlag an Rohr 10
Anode Abstimmung ca. 13mm Abstand zum Gitterrohr (6)

Band Set komplett nach auflen

Kathodenschieber komplett nach aullen

Dann wird der Liifter aktiviert und die Heizspannung angelegt und
mindestens 3 min vorgeheizt. Die Heizspannung fiir Rohren TH308,
TH328 usw. sollte etwa 5,2V (max 5,3V) auf dieser Frequenz betragen.
Fiir andere Rohren entsprechend dem Datenblatt. Die Ruhestromein-
stellung wird auf kleinsten Kathodenstrom gestellt.

Nach dem Anlegen der Anodenspannung, ca 1.000 bis 2.000V wird ein
Kathodenruhestrom von etwa 40 bis 80mA eingestellt und eine Steuer-~
leistung von etwa 1 bis 3W auf den Eingang gegeben. Der Ausgang ist
mit einem Leistungsmesser und einem 50 Ohm AbschluB3 belegt. Die
Band Set Schraube wird langsam eingedreht und der Resonanzpunkt
gesucht. Dann wird die Anodenabstimmung und der Auskoppelstempel
wechselseitig auf maximale Ausgangsleistung gestimmt. Die Kathoden-
seite ebenfalls durch wechselseitiges Abstimmen des Schiebers und
der Einkopplung. Keinesfalls sollte ein Dauertridger zur Abstimmung
bei hohen Leistungen dienen, sondernein CW-Generator (5-10Hz).

TESTERGEBNISSE
TH308, 2.050V Anodenspannung stabilisiert, 40mA Kathodenruhestrom

Pin W PEP Pout W PEP Ik mA Gain Wirkungsgrad %
18 300 500 12,2 29,3
31 510 700 12,1 35,5
49 770 900 12,0 41,7
(68) (980) (1.100) (11,6) . (43,5)

Die Rohren TH328, TH294, TH338 und F6007 arbeiten mit dhnlichen
Ergebnissen. Die EIMAC Typen Y730, Y831 und Y846 liefern mehr
stdrkung, aber arbeiten nicht geniligend stabil, verursacht durch Inter-
Elektroden Probleme(Leistungsflucht). Zum Beispiel kann mit einer
Y846 in einem Schritt von 10W auf 500W (17db) vestidrkt werden,

aber die Ausgangsléistung ist ohne fortwidhrendes Abstimmen nicht
konstant zu halten.

Die -3dB Bandbreite betrdigt nur 1,3 MHZ.

DUBUS 4/85 - 313 - TECHNICAL REPORTS

TECHNICAL REPORTS



DUBUS 4/85 TECHNICAL REPORTS

CATHODE BIAS VOLTAGE

The circuit diagram below shows a well tested, reliable cathode
DC supply for TH308, Y730, and other triodes on operation class
AB in an grounded grid cavity design.

Zero signal current is adjusted by VR1, the cathode current
meter is calibrated by VR2. R2 limits the maximum zero signal
current adjustment.

The voltage at R5 is a measure of the cathode current, e.g. 500
mV equal to 500mA. During high power operation Q is dissipating
up to 25W.

Das nachfolgende Schaltbild zeigt eine bewdhrte Kathodenspannungs-
einstellung flir TH308, Y730 und andere Trioden im AB-Betrieb in
einem Gitter~Basis Kreis.

Mit VR1 wird der Ruhestrom eingestellt, mit VR2 das Kathodenstrom-
instrument geeicht. R2 begrenzt den maximal einstellbaren Kathoden-
strom.

Der Spannungsabfall an R5 ist ein MaB des Kathodenstroms, z.B.
500mV entsprechen 500mA. Wdhrend Hochleistungsbetrieb werden von

Q bis zu 25W Verlustleistung abgegeben.

D1-D4 R1 +27..30V cathode
-O . -3 '
o 5.5V le JX f]R3
O
O— VR1
30V AC I
o .05 A - O
o i D5 Cip'-
heater N
transformer ?EZS R2
ground
Q MJ2500, MJ2501 or similar
D1-D4 1N40C05 or similar
D5 27-30V zener diode, 1.3W
R1 1k2, 1/2W
R2 2208
R3 18k
R4 1k
R5 1R, 4W

VR1 5k lin. (extern)
VR2 1...10k (spindle)

cl 100uF, 63V
c2 1pF, 63V
C3 10nF ceramic

DUBUS 4/85 - 314 - TECHNICAL REPORTS



DUBUS 4/8%5 TECHNICAL REPORTS

VR! 5k

—

o5 l |
o =C:D==c:o= ° @ O
dg-= Q’”
D \,
-t (C2 c3 E
ﬂ @ o—fe— 3
— o 3
30V AC B
———»—o0 2 5] |«
21188
a >] |y o—f+— 3
sO0Y= & g

oe 9pmj 901

DUBUS 4/85 - 315 - TECHNICAL REPORTS



